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INSTRUCTIONS TO CANDIDATES

Read the following instructions carefully before you answer the questions. Answers are
to be given on the separate answer-sheet.

Please write your Centre Code and Seat No. very clearly (only one digit in one block).
Before writing your Seat No. get it ascertaine from the Centre Conductor. Please see that
no block is left unfilled and even zeros appearing in the Centre Code and Seat No. are
correctly transferred to the appropriate blocks on the booklet and on the answer sheet.

Example :

CENTRE CODE %= @%di®

SEAT NO. 3= #aie

10.

For all subsequent purposes your Centre Code and Seat No. shall remain the same. Centre
once alloted will not be changed

All questions carry one mark each.

Since all questions are compulsory do not try to read through the whole question paper
before beginning to answer it.

Begin with the first question and keep on trying one question after another till you finish.

If you do not know the answer to any question, do not spend much time on it and pass
on to the next one. Time permitting you can come back to the questions which you have
left in the first instance and try them again.

Since the time alloted is very short you should make best use of it. The rough work is
to be done in the box given under each page.

Remember you have to mark on your answers in “Mental Ability Test” answer-sheet
only.

Answer to each question is to be indicated in the answer-sheet by encircling with black
pen provided to you in the appropriate number of alternative in the answer-sheet from
amongst the ones given for the corresponding question in the test booklet.

Do not write anything except Centre Code, Seat No. and rough work anywhere in this
booklet.

Now turn to the next page and start answering the questions.
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| Mental Ability Test |

Q. 1 to 3 : Directions : Which number will replace the question marks in the given series.

1.

336, 210, 120, 60, 24, ?

(1) 12 2) 6
(3)5 4) 8

32, 37,47, 58, 71, ?

(1) 79 (2) 78
(3) 82 4) 80

5,6,9, 16,31, ?

(1) 46 (2) 58
(3) 61 4) 62

Q. 4 to 6 : | Directions : If the alphabets A to Z are coded as follows. A=1,B=3,C=35,

D=7, ... then answer the following questions.

4.  Write the letter that appears exactly at the middle place between 29" and 37" letter.
(1) P 2) R
3)Q 4 S
5. Write the meaningful word that will be prepared by taking 39%, 27% 11" and 29" letter
(1) KING (2) FONT
(3) REST (4) FAUL
6. A meaningful word is prepared by using the letters ‘O, E, Y, N, J’. Write the number of
the letter that comes exactly at the middle place of that word.
(1) 19 2)9
(3) 27 (4) 31
Only for Rough Work
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| qgH eraar Il |

71 d 3 | gEAT : IS A GeATaeETd SNT B BIOTd SSAT agA ¢

1.

336, 210, 120, 60, 24, ?

(1) 12 (2) 6
(3) 5 “4) 8

32, 37,47, 58, 71, ?

(1) 79 (2) 78
(3) 82 (4) 80

5,6,9, 16, 31, 2

(1) 46 (2) 58
(3) 61 4) 62

T 436 |gam: AT Z & st gt A=1,B=3,C=5D=7, ... T gt fefEet

W qeid gearar s forer.
29 @ g 37 9 37T HAIHY JUTR 3T HIod ?

()P (2) R

3)Q (4) S

39 9,27 F, 11 § T 29 F 18R 9% Hom@r A0 8 TR e ?
(1) KING (2) FONT

(3) REST (4) FAUL

‘OEY N J a1 3ieRdeA U 3rRiYol 68 qar &rdl. &1 SEETdid Aerse Jomar 18R A
FIOTT TgA

(1) 19 2) 9
(3) 27 (4) 31
Only for Rough Work
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Q. 7 to 9 : | Directions : Find the odd figure

7.
-+ -+ o T ®
QO] 1O,
(1) () (3) (4)
g.
A A A
5> \)\ Akl —J
/ I e I I
(D) (2) (3) 4)
0.

(1) (2) 3) 4)

Only for Rough Work
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7.7 d9: | AT : M@ 7 THOTRN Bl BT,

7.
-+ -+ o T ®
Q) 1 Q) LS.
(1) (2 (3) “4)
8.
A a A
5——> \)\ Akl —J
/ 7]
(1) (2) (3) 4)
0.

(1) (2) 3) 4)

Only for Rough Work
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Q. 10 to 12 :| Directions : In the following questions there is a specific relation between first
and second term. The same relationship exists between third and fourth term,
which will replace the question mark. Select the correct alternative from the
given alternatives.

10. KTS : JLSURT : : ? : MOLNIJL

(1) LMK (2) PKS
(3) NMK (4) MNK

I1. SPJ: XUO :: THN : ?

(1) XNT (2) TMS
(3) YNT (4) YMS

12. AMK : HUT : : JDP : ?

(1) QLY (2) QKW
3) QYL (4) QIX

Q. 13 to 15 :[ Directions : In the following questions numbers are written with a specific rule.
According to that rule which alternative will be in place of question mark?

13. 4 | 5 141
712 57
3 6 ?

(1) 125 (2) 167
(3) 198 (4) 225
14. 13| 61 [ 20
441 3 ?
8 80 | 5
(1) 29 (2) 31
(3) 33 (4) 37
Only for Rough Work
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.10 T 12 : |§gEAT : qrEcdT ISTET SHAT ISl SN W M@ a9 W [qwAr T AAT 96 A, v

M geAta=rd SN T gt forer.

10. KTS : JLSURT : : 2 : MOLNIL
(1) LMK (2) PKS
(3) NMK (4) MNK

11. SPJ : XUO : : THN : ?
(1) XNT (2) TMS
(3) YNT (4) YMS
12. AMK : HUT : : JDP : ?
(1) QLY (2) QKW
(3) QYL (4) QIX

713 @ 15 ¢ |gEAr - Ed gRAidd aRania demEe 6 faivre s e, at e stwmgA

geafaar S T g e

13. 415 | 141
712 | 57
306 |2
(1) 125 (2) 167
(3) 198 (4) 225
14. 13] 61 | 20
44| 3 | 2
g8 | 80| 5
(1) 29 (2) 31
(3) 33 (4) 37

Only for Rough Work
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15.

16.

56| 39 | 22
40 38 | 36
61| ? 29
(1) 45 (2) 47
(3) 53 4) 59
It was monday on 1% Aug. 2016. Then which day will be on 1% Aug. 2025?
(1) Monday (2) Tuesday
(3) Thursday (4) Friday

Q. 17 & 18 :[Directions : The folded figure of a square paper is given below. If it is unfolded,

17.

how will it look like? select the correct alternative given.

Question figure

Answer figures

N

< Nz

(1) 2) 3) 4

Only for Rough Work
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AT WA e YAl SRAaeaTH Ao Tl HIATHdl HEETe Jraciell TSt faait

15. 561 39 | 22
40 38 | 36
61| ? 29
(1) 45 (2) 47
3) 53 (4) 59
16. 1 3w 2016 Tsit THAR gar @ 15 3ffre 2025 IS HO@T IR WA 2
(1) FrFar (2) HTeEaR
(3) TEAR (4) YFIR
9. 17 7 18 :
IR, AT HEE SASATHAT FAT FHA & T=TIIG Te.
17. 9= 3mHar

)

A AT
' .
(1) 2) 3) (4)
Only for Rough Work
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18. Question figure

Answer figures

N

S

(1) 2) 3) 4)

Q. 19 to 22 :|Directions : In each of the following questions find out the term which matches

the given group.

19. 29, 40, 53
(1) 30 (2) 68
(3) 84 (4) 14
20. 48, 832, 618
(1) 22 (2) 515
(3) 202 (4) 204

21. 512, 619, 327

(1) 2104 (2) 49
(3) 865 (4) 3532
Only for Rough Work
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18. W 3mahdt

3T ATHAT

S

(D 2) 3) 4

7. 19 @ 22 : |gEAT : YR FRA HEATET U (AR T fSa . e qhidid U aai & et

Josdt. @ oA g gaty fere.

19. 29, 40, 53
(1) 30 (2) 68
(3) 84 4) 14

20. 48, 832, 618
(1) 22 (2) 515
(3) 202 (4) 204

21. 512, 619, 327

(1) 2104 (2) 49
(3) 865 (4) 3532
Only for Rough Work
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22. 218, 66, 345

(1) 725 (2) 234
(3) 514 (4) 623

Q. 23 & 24 :|Directions : In the following questions there is a specific relation between first

and second figure. The same relationship exists between the third and the fourth
figure which will replace the question mark. Select the correct figure from the
alternatives given below each question.

23. Question figures

DO B i e
ey —— N

Answer figures

—=— —=— —=— —H
S V1SS b
(1) 2 3) 4
Only for Rough Work

NMMS-MAT-18 | VIII | M5 |

14 of 48




22. 218, 66, 345

(1) 725 (2) 234
(3) 514 (4) 623

7. 23 T 24 :|gEAr : ufeedT MHArET HAT MHART ST ddd Mg qurd ey fowm g odver

MFAAS MR, T W SMYA gaAragrd JEr aiw b et

23. 9T ImhAn
¢ © >
/ . '—‘—9 (F l;
g e >t
T IFT
= [ZF] T
(D 2) 3) 4
Only for Rough Work
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24. Question figures

25.

26.

\

Yo kZ NS o
\

(1 2) 3) (4)

From one place Sameer travels 6km. towards East. Then he turns right and travels 4km.
Again he turns right and walks 2km. Again he turns right and walks 1km. Then he turns
left and walks 8km. Now he turns North and stops after walking 3km. then he turns right
making angle 45° and walks 5km. Find his direction from the origin.

(1) North (2) West
(3) At the origin (4) East

Tushar faces North-East direction then he turns left making angle 135°. and then did
‘Shirshasan’. Which direction he faces now?

(1) East (2) West
(3) South-East (4) South-West
Only for Rough Work
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24, g IMFHT

)

v\_—(

/

l*-—\,

(1

3)

/

4)

25. WHER TH SHOTONA qEwe 6 AT Ty Iediee 9T It 4 6. A ISt 9o
2 5. TR WA Iorates 9o 1 R AT e, @R S 9% 8 6. e e et
TFE I 3 TBA. S giear. qa¥ Ioaree 450 wer g 5 AT T aX @t SRR

Hror et .
(1) s (2) utgs
(3) srmiwTt (4) 74
26. TUITE qlE ST TS B AT STarwe 1350 HAGA qosm T &1 ofWiH et a8 @rean JHr
fSem woTr
(1) 94 (2) wfem
(3) sy (4) F&=
Only for Rough Work
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27.

In a row Jaswandi is standing at 5" place behind Nilima. Jaswandi is standing at 6™ place

from behind and she is 20™ from the front then Nilima is standing at which position?
(1) 16" from front (2) 17" from front

(3) Tenth from behind (4) Eleventh from behind

Q. 28 to 31 :[Directions : Using English alphabets answer the following questions.

28.

29.

30.

31.

In a code language if EARTH = DBQUG then in the same language VENUS = ?
(1) UFMVR (2) TFMVR
(3) WFOTR (4) UFMTR

In a code language if BEL = 19 and TIME = 47. then SMILE = ?

(1) 59 (2) 58

(3) 57 4) 56

In a code language RIO = QSHIJNP then in the same code language how to write word
net ?

(1) MLDEUV (2) MODFSU

(3) MDOSUF (4) MODSFU

In a code language CUSTMER = SUCTREM then in the same code language
PRODUCT =7?

(1) RPDOCUT (2) ORPDTCU
(3) ORPUDCT (4) ORUDTCP
Only for Rough Work
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27.

THT T AT ARE AT HHIPTEY SRAal SHT MR, STRASET SHHIS g HeTal a¥ g faerar

. a¥ Toq M= ®HiE fhaar M 9
(1) 9g Hrearan (2) 98 wawa
(3) s =gmar (4) s 1l

7. 28 T 31 : |gEAT : SUSH AUTHTEET IUANT HHA Yeid FeATEr Ia% (el

28.

29.

30.

31.

THT Fibtas wed sk EARTH & e DBQUG 3mT fegtara av @ dichias wva VENUS &t
g T fetemar ¢

(1) UFMVR (2) TFMVR

(3) WFOTR (4) UFMTR

THT Fibtasw W sk BEL = 19 anfor TIME = 47 s/@a @@ SMILE = ?

(1) 59 (2) 58

(3) 57 (4) 56

THT Fichtas ASa sk RIO 21 o3 QSHINP 3 fafed av @ @idsias wad NET 27 93 &t
feTgrar 2

(1) MLDEUV (2) MODFSU

(3) MDOSUF (4) MODSFU

ThT Fihiaes Wivd CUSTMER =1 9iss SUCTREM 307 fotgiara a< & Hisktaes wivd PRODUCT
2T (% HHT TolerT 9

(1) RPDOCUT (2) ORPDTCU
(3) ORPUDCT (4) ORUDTCP
Only for Rough Work
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Q. 32 to 34 :[Directions : The adjacent figure is folded to form a cube. Observe the figure and

answer the following questions.

SN,

1Q
@
> D

32. Which sign from the following will not be adjacent to O ?

m <y o (P o< @ (P

33.  Which of the following figure is the figure obtained by folding the paper to form a cube.

(1) E\ @) a

4 oQ

3)

34. What sign will be on the surface opposite to surface having (, sign ?

o () @ ) > @ ()

Only for Rough Work
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7. 32 @ 34 |gEAr ; Wl [SoledT SMFHAe g9 91aedT a¥ UF Srhos qdr gral. IT Mdhdrd aeTor
FE YEieT FATE A% foTE.

SN,

1@
@

> D

32, it Fo faw () = e o A e

m o (P o <P @ (P

33. Tlicdet HIOT MMhdT qUR SeedT SrbesdTdl 318 2

TR

34. wﬁaﬁa&aﬁﬂﬁ%awmwﬁéﬁ?

o () @ <) > @ ()

Only for Rough Work
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Q. 35 to 37 :[Directions : A cube having dimensions 3 x 3 x 3 is painted with violet and

35.

36.

37.

38.

39.

yellow colour. The four vertical faces are painted violet and the remaining two
are painted yellow. Then the block is cut by 1 x 1 x 1 unit dimensions in small
blocks. Answer the following quiestions.

How many blocks are there painted yellow an one surface ?

()3 2)9

(3) 27 4) 18

How many blocks are there which are not painted by any one colour ?
(1o )1

(3)3 4 9

How many blocks are there having two surfaces violet ?

(1) 3 29

(3) 10 4) 12

Observe the following figure and choose the correct alternative to replace the question
mark.

DEC |NOV |[MAR
MAY | MAR | FEB
JUL ?  [JAN

(1) AUG (2) SEPT (3) APR (4) JUN
If — means multiplication + means division x means addition and + means subtraction
then 8 -3 +15+5=7

(1) 21 (2) 20 3) 12 (4) 8

Only for Rough Work
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.35 d 37 ¢ |gEAT: 3 x 3 x 3 UHS AT UF AThS! oA WaqHT IR IWT TRGIAT FTHA T AT
T gatT fugesr 1 e, @ar @ 1 x 1 x 1 T AT 3 bt a¥ qeid weATEr
I T

35. UF U [Udes &1 IMUIR fohdt Stpes Hesdier 2

1) 3 )9

(3) 27 4) 18
36. THE TRURT Giid A9 Sihes TRl 2

(1) 0 2) 1

3)3 49
37. I YA SAies W MU 3idhes fhdt ©

(1) 3 2) 9

(3) 10 4) 12

38. weATa=M SN B ITA ? TNY I (@

DEC [NOV | MAR
MAY | MAR | FEB
JUL ?  [JAN

(1) AUG (2) SEPT (3) APR (4) JUN

39. S — WU IUMHR, + TN ANHN, X TUT sl M7 + Ut goiremh! 3r8e
WE-3+15+5=7?
(1) 21 (2) 20 (3) 12 (4) 8

Only for Rough Work
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40.
(1) 196
(3) 182
Q. 41 to 43 :

If 7x9=256,11 x 13 =132 and 15 x 17 = 240 then 13 x 15 =7?

(2) 195
(4) 169

Directions : Observe the pyramid of numbers and choose the correct alternative

that will replace the question mark.

5
6 7
8 9 10
11 12 13 14
15 16 17 18 19
20 21 22 23 24 25
41. 15, 11,16 : 16,22, 17 11,8, 12 : 2
(1) 8, 12, 9 (2) 17, 23 18
(3) 12, 22, 17 4) 12, 17, 13
42. 6,8,12,9 : 12, 16,22, 17 7,9, 13,10 : ?
(1) 18, 19, 24, 25 (2) 16, 15, 20, 21
(3) 13, 17, 23, 18 4) 13, 17, 18, 14
43. 6,57 : 6,9,7 9,7,10 : 2
(1) 16, 22, 17 (2) 18, 23, 24
(3) 9, 23, 10 4) 9, 13, 10
Only for Rough Work
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40. SR 7 x 9 =156, 11 x 13 = 132 anfr 15 x 17 = 240 3@ a8 13 x 15 = ?
(1) 196 (2) 195
(3) 182 (4) 169

.41 T 43 |gEAr  TSoe SSHie AAEs Aiei| gRadt a8 TAraiHeE Qe

5
6 7
8 9 10
11 12 13 14
15 16 17 18 19
20 21 22 23 24 25

41. 15,11, 16 : 16,22, 17 :: 11,8, 12 :?
(1) 8, 12, 9 (2) 17, 23 18
3) 12, 22, 17 4) 12, 17, 13
42. 6,8,12,9 : 12,16,22,17 :: 7,9,13,10 : ?
(1) 18, 19, 24, 25 (2) 16, 15, 20, 21
(3) 13, 17, 23, 18 (4) 13, 17, 18, 14

43. 6,5,7 : 6,9, 7 :: 9,7,10 : ?

(1) 16, 22, 17 (2) 18, 23, 24
(3) 9, 23, 10 4) 9, 13, 10
Only for Rough Work
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Q. 44 to 47 :[Directions : In the following figure the solid cube is painted on all sides by a

44,

45.

46.

47.

N
<\i -
’\i\ ; |
\\\

questions.

_r

What is the total number of blocks in the figure.

single colour. Observe the given solid and choose the correct alternative for the

(1) 60 (2) 64

(3) 54 4) 50

Find the total number of blocks whose four faces are coloured.
(1) 2 (2) 4

(3) 6 4) 8

Find the total number of blocks whose three sides are painted.
(1) 4 (2) 6

3) 8 49

How many surfaces of the block denoted by letter ‘A’ has touched the surfaces of other
blocks ?

(1) 2 ) 4

(3)5 4) 6

Only for Rough Work
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. 44 T 47 : |[gEAT ;. WETHAT MFAHA Hiel TPl 3(hes AgA Th TAT il e [aam | st
T TS IR, IMHA RGO oA YA gATE I @l

44.
(2) 64
4) 50
45. TR T A Irhos TRl IMET ?
(1) 2 (2) 4
3) 6 (4) 8
46. @ a5 TG @OTR AT Sl MR ?
(1) 4 (2) 6
)8 49
47. ‘A’ IR IRATAHT IIheATeAT bl TSI $aT SIhod oAl ISIAT TN HeAT 3R, 2
(1) 2 (2) 4
3)5 4) 6
Only for Rough Work
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Q. 48 to 50 :|Directions : Find the odd term.

48. (1) 224 2) 216
(3) 264 (4) 232

9. (1) 2 5 133
ORI @) 154

3y 12 4 B4

) 136 @) 176

50. (1) 6921 (2) 651
(3) 571 (4) 6741

Q. 51 : Directions : The question figure given below is held vertically on water surface. How
will the reflection of the given figure in water look ? select the correct alternative.

Question figure

Answer figures

(1) (2) 3) (4)

Only for Rough Work
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7. 48 @ 50 : |g=ar : fod ug STiess.

48. (1) 224 (2) 216
(3) 264 (4) 232
- (M 112 @) 154
L 19 4 15t
) 136 “) 176
50. (1) 6921 ) 651
3) 571 (4) 6741
7. 51 : FEAT : TSl TRAMHAT ITUITAT TEHEITEY SHY eRe! 3T9al fad arodTid giarad 9 fS8d
T O QM.
Wt s
I ATHAT
(1) (2) 3) 4)
Only for Rough Work
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Q. 52 to 54

:|Directions : In the given questions there is a relation between column I and

column II in a code language. By using the code language answer the following
questions.

Column I Column II
RIM 963
MALL 7547
RULE 1726
MORE 5362
BOOM 3835
52. MAIL =7?
(1) 3486 (2) 5497 (3) 6479 (4) 5387
53. BEAM =7?
(1) 3857 (2) 8235 (3) 8245 (4) 5821
54. MORAL =7?
(1) 53647 (2) 56381 (3) 53649 (4) 57142
Q. 55 & 56 :|Directions : Observe the following figure and choose from the alternatives which

number will replace the question mark ?

CAAA

(1) 73

(2) 80 (3) 83 4) 99

(1) 22

(2) 30 (3) 32 (4) 36

Only for Rough Work
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T 52 @ 54 ¢ |gEAT : Teia weA @ | wer $iE s foeet Jmed ot W I wed e |k iad

3 TS IMRT 97 o W6 [ =7 U= A=A = ST 31 ATl d Wihias

T e YA TeATE A S fSdedT autiga et

w1 ww 11
RIM 963
MALL 7547
RULE 1726
MORE 5362
BOOM 3835
52. MAIL =7
(1) 3486 (2) 5497 (3) 6479 (4) 5387
53. BEAM =7?
(1) 3857 (2) 8235 (3) 8245 (4) 5821
54. MORAL =?
(1) 53647 (2) 56381  (3) 53649  (4) 57142
9. 55 @ 56 : |gEAT : TSI P [SoledT HEATH UF At e oE. At sfesA weAtawerd S
?ﬁw Tty foer.
(1) 73 (2) 80 (3) 83 (4) 99
56.
5/ \6 f 2 4/ 5\ 8
A /21X
4 5 lo
(1) 22 () 30 (3) 32 (4) 36
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Q. 57 to 59 :

Directions : In each of the following questions write which word in sequence
replaces the question mark

57. KSD, LRE, MQF, NPG, ?

(1) OWH (2) OQF (3) ORJ (4) OOH
58. BC, EF, 1J, NO, ?
(1) ST (2) TU (3) UV (4) RS
59. DG 11, JM 23, PS 35, ?
(1) YX 49 (2) TY 45 3) UX 45 (4) VY 47
Q. 60 to 62 :[Directions : In the following questions a specific group is given. From the given

alternatives find out the right term which matches the given group.

60. 17PR WY24 DF5
(1) ST18 (2) 9HK (3) BE4 (4) 13LN
61. XT RN FB
(1) NK (2) OK (3) BJ (4) SP
62. CKT NQD BLT
(1) XFD (2) DGH (3) LRH (4) MKT
Q. 63 & 64 :[Directions : A rhythmic arrangement of alphabets is given. The missing letter
alphabets appear in the same order in one of the alternative answer. Find the
correct alternative.
63. a ba ab aaab a
(1) aaaaa (2) ababa (3) abbab (4) babab
64. cccbb aa cc bbbaa c
(1) acbc (2) baca (3) baba (4) acba
Q. 65 : Rahul is elder than Jayesh by 312 days. In an ordinary year Jayesh’s 14™ birthday falls

on wednesday then on which day Rahul’s 14" birthday will be ?

(1) Tuesday (2) Thursday (3) Friday

(4) Saturday
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.57 @ 59 :|gEAT  HAW FIOW UF TgA ©

57. KSD, LRE, MQF, NPG, ?

(1) OWH (2) OQF (3) ORJ (4) OOH
58. BC, EF, 1J, NO, ?

(1) ST (2) TU (3) UV (4) RS
59. DG 11, JM 23, PS 35, ?

(1) YX 49 2)TY 45 (3)UX 45 (4) VY 47

.60 T 62 :|FEAT : YEId FRATT T T [IRIE e foaar e, &1 TSt Josomr ag 94t Haet.

60. 17PR WY24 DF5
(1) ST18 (2) 9HK (3) BE4 (4) 13LN

61. XT RN FB
(1) NK (2) OK (3) BJ (4) SP

62. CKT NQD BLT
(1) XFD (2) DGH (3) LRH (4) MKT

7. 63 T 64 :|FIAT ; MW TAUGE AISUNET JHTH FH7 NBEAT AN HH PO 378N A

63. a ba ab aaab a
(1) aaaaa (2) ababa (3) abbab (4) babab

64. cccbb aa cc bbbaa ¢
(1) acbc (2) baca (3) baba (4) acba

T. 65 TEA SAerer 312 fEawit AT 3. WHHEN! SEEr 14 G qefaw JEARt @ a¥ qgadr
14 a1 Jefsad HOTAT TRl AT A 7

(1) Hresam (2) TR (3) A (4) sfrar
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Q. 66 & 67 :[Directions : A square piece of paper is folded and cut at specific spots as shown

in the figure. The paper when unfolded will look like as shown in one of the
alternatives. Select the correct alternative.

66. Question figure

s

| I

L. — 1

Answer figures

~ QDI T D
BT

) ) (4)

Q
S

N

67. Question figure

I'“_"“W

Answer figures

0 O_0
oo ) D o[]o
(1) (2) 3) 4)
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T. 66 T 67 :|FEAT : TH FARAHA! BEETAT GSAT TG Al [aRree BTN BT TN SRl

IR, A FEEET TEl INSTHaT B [S8e o Iy g forer.
66. T ITHAT

s

| I

L. — 1

el Qw2
O 0 & ﬁ"] c._)dm Q|

M M /M
(1) () (3) 4)
67. W JAMHAr
]' T T
|
} _
A
' _
SR Ipe
S ~N ' i
o o oll°—°l|lconD
oJo D @) o)
(1 () (3) 4)
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Q. 68 : Mahesh went 18km. to East on bicycle from his house. Then he turned right and

travelled 3km. Again he turned right and travelled 6km. At the end he turned left and
travelled 6km. Now how far Mahesh is from his house and in which direction ?

(1) South—East, 15km. (2) South—West, 20km.
(3) North—East, 21km. (4) South 15km.

Q. 69 to 71 :[Direction : In the following questions there is a specific relation between the first

69.

70.

71.

and the second number. The same relationship exists between the third and the
fourth number which will replace the question mark. Select the correct alterna-
tive from the given alternatives.

121 : 15 ::232:7

(1) 48 (2) 16 3) 14 (4) 49
738 : 11 :: 966 : ?

(1) 15 (2) 22 (3) 16 (4) 17
2:0.008::3:7?

(1) 27 (2) 0.27 (3) 0.027 (4) 0.0027

Q. 72 to 74 :|Directions : In each of the following, question figures change in a particular

order. Find out the correct figure from the alternatives which will replace the
question mark ?

72. Question figures
+ e O O AN
b >
X, - X + X o
Answer figures

) 3 ~ %

D X O Ao Xl D -H
+ -+ + o
(1) (2) 3) (4)
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7. 68 : HEY ATAT TR Taar 18 6.l AEEaaR Tl dYF IArhe a9 3 [F.AL T IR Ieraihe
5T 6 T6.AL. 3T T FUA. ATt SAIPS BT A 6 6L I FOA A AL TARIA
FHIOTT fatem @ fpet fawas 3mg ©

(1) s, 15 Fraf. (2) ¥, 20 FEA.
(3) g, 21 T (4) =fror, 15 6.5

.69 @ 71 | gEAT : S TRAT AreedT SSAET Ut ALl ST Weer g qurd "o fqw a A

TS R, @ WG SMYA FaAragren SAntt I 99ty s

69. 121 :15::232:7?

(1) 48 (2) 16 (3) 14 (4) 49
70. 738 : 11 ::966 : 7

(1) 15 (2) 22 3) 16 4) 17

71. 2:0.008 ::3:7?
(1) 27 (2) 0.27 (3) 0.027 (4) 0.0027

.72 @ 74 | gEAT A TS FEATT RAINEGAT UH fafire A ISadTd. & HH geAtaeere

STRT IO 3MFAT I3 o TNT UFATH S0,

72. 98 3MFHAT T o O 5 ~
b s >
X, A X + X o
e o % ~ %
AN X (O Al 1O Xl |5 -
- -+ -+ o
(1) (2) 3) 4)
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73. Question figures

| e
NZERaN g ‘
/N | °
IR |

74. Question figures

(2)

(2)
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73. 9T 3MHAT

3TY ATHAT

A T NS

ANLT :
TR |
L co— O ¢ 0> O0— M0 <+

74. 9T 3MHAT

(2)
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75 : Directions :

In the following question the given figure is incomplete. Select the correct
alternative which can complete the figure.

Question figure

Answer figures

——— |
\ "~ l ~\ N\
~ \ -\ || o\ \ .\
y | ] Py L ™)) N
ﬂ——r—ﬁ—-—-‘
(1 (2) (3) 4)

Q. 76 to 78 :[Directions : Observe the Venn diagram and answer the questions that follow.

3 9 27 () = Farmer

45

(2 q = Engineer

10 19
L | = Photographer

76. How many Engineers are doing farming ?

(1) 29 ) 12
(3) 31 4) 22
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75 : AT : YO B YO FOAEIGT AT 97 EE.

w1
ST AP
~ 1 =1 =
S0 B R A
(1) 2 3) (4)
. 76 T 78 ;| gEAT ; ST A9 FHA AT HHA WISt TATEl I [SAedT qhiargd e,
39 27 O = dawd
[2 .
0 19 |
= BISUTHT
je _ -

76. Tpar IR AT A ?

(1) 29 2) 12
(3) 31 4) 22
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77. How many Farmers are Photographers ?

(1) 41 (2) 12
(3) 22 (4) 10
78. How many Engineers are there who are not Photographers ?
(1) 66 (2) 27
(3) 39 (4) 46

Q. 79 to 82 :[Directions : Identify by which rule the following numbers perform a set.

Option Rule

(1) Obtain the square of a number and add twice the number.
(2) Half of a square of number.

(3) Subtract the number from the cube of that number.

(4) Add three to five times of the number.
79. 24 48 80 15
80. 43 23 28 18
81. 200 72 162 50

82. 210 24 336 60

Q. 83 & 84 :[Directions : Sangeeta, Namita and Neeta like ‘Rose’ flower. Except Sarita all

like ‘Kevada’. Only Radha and Neeta like ‘Chapha’. Except Sangeeta and Radha
other love ‘Mogra’. Answer the following questions.

83. Which flower Namita does not like ?

(1) Rose (2) Mogra
(3) Chapha (4) Kevada
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77. TEar AAHIET BICTTHE T 9

(1) 41 ) 12
(3) 22 (4) 10
78. wiEwTHr 7 IO TR AT 9
(1) 66 ) 27
(3) 39 (4) 46

.79 T 82 :|gEAT : T TH A €9 S e, @ e weid SSEEEEn a6 g, Tl

AT HEAAT ST IR M Fel.
(1) ¥Ear @ F4 o deadr gue e,
(2) dEET W HeA I T F

(3) FTHTT U9 HHA ATGH df AT T B
(4) IS 9T 9T B AT dF e,

79. 24 48 80 15
80. 43 23 28 18
8l. 200 72 162 50
82. 210 24 336 60

7. 83 o 84 :|gEAT : WA, ATHAT, AT AT AT IFTASAT. FRAT ATTTE FAAT HIST ITaSAl. FTHT

W AT T WEAT MESAl. TR T TT ARBRE JAUAT AN MaSal. a¥ qeid gt

3T .
83. WU BT ATHATAT IMESd ATEN ?
(1) e (2) s
(3) =TT (4) Fa=t
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84. Name the flower which sangeeta likes but not Radha ?
(1) Kevada (2) Rose
(3) Chapha (4) Mogra

Q. 85 & 86 :[Directions : Observe the following figure and answer the following questions.

TS~

85. What is the total number of triangles in the figure.
(1) s (2) 6
(3) 8 4) 10

86. Find the number of trapeziums in the figure.

(1) 5 (2) 6
()7 (4) 8
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84. TIIATC 3MMESd AT TETEAT ST ATEl 3™ B B0 ?
(1) &a=t (2) e
(3) =TT (4) #TT

7. 85 @ 86 :|gTAT : WEATAT MFHdrd WAA0T FoA YSid F=ATEST I0T qaig aer.

TS~

85. TrmroTIaY UHOT HEAT TRAT I 9

()5 (2)6
3) 8 (4) 10
86. MFATHNT THGE HBT WA Rt e ©
(1) 5 ) 6
(3)7 “4) 8
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Q. 87 to 90 :|Directions : Find the odd term.

87. (1) EP ) K
(3) MH (4) NF
88. (1) CDL (2) DET
(3) LBW (4) DFX
89. (1) MPS (2) NRV
(3) LOR (4) EHK
90. (1) GOH (2) CXT
(3) KXM (4) RVD
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7. 87 @ 90 : |g==r : fawTd ug St

87. (1) EP ) IK
(3) MH (4) NF
88. (1) CDL (2) DET
(3) LBW (4) DFX
89. (1) MPS (2) NRV
(3) LOR (4) EHK
90. (1) GOH (2) CXT
(3) KXM (4) RVD
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